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Topic:- ACEE MPHIL S2
1) Which of the following is not a form of measurement validity?

forgotferRaa & A diet Ml AT derar oI Tb U odl 3
[Question ID = 6927]

Concurrent validity / Jradf e [Option ID = 27702]
Face validity / @21 e [Option ID = 27703]
Conductive validity / yarsdbir derar [Option ID = 27704]
Convergent validity / 3iféifera derar [Option ID = 27705]

AW N =

Correct Answer :-
e Conductive validity / yasdrr derear [Option ID = 27704]

2) A Simple random sample is one in which:

U ATLRYI ARRBD el a8 & R

[Question ID = 6928]

1. From a random starting point, every unit from the sampling frame is selected / e Rt fig 3, oHol B, 73y YRIb Uee $PBIS DI RI6l B ST 3
[Option ID = 27706]

2. A non-portability strategy is used, making the results difficult to generalize / v Sh-uicfaferdt Jurhfer w1 uRier fopen Siar 8, SRR ulviEil B JAMIeRT Tollell

gfdepet &l st 3 [Option ID = 27707]
3. The researcher has a certain quota of respondents to fill for various social groups / olteraf @ urt ffdioor AP el D fore IaerArsll oI v forfia et

2 [Option ID = 27708]
4. Every unit of the population has an equal chance of being selected / SoRReI 6! YRl sPIS 3 TRIfGI Blol I Wl Asidell 3 [Option ID = 27709]

Correct Answer :-

e Every unit of the population has an equal chance of being selected / SiorRR=I &t YD 1S 3 TRIfold Blol bl el Asidonl & [Option ID = 27709]

3) Aresearcher is interested in studying the prospects of a particular political party in an urban area, what tool should he
prefer for the study

o oNerdbdl U 9t 8l i fpl fady Ismoliferas urdl &1 ANTaciisil T 31eeRIel wol A BRI W 3, IA 3UERIoI D fIT Blol AT IUDBIVI UG
Dol Az

[Question ID = 6929]

1. Rating Scale / 3fést 3aet [Option ID = 27710]

2. Interview / mgiesr [Option ID = 27711]

3. Questionnaire / ysaimactt [Option ID = 27712]

4. Schedule / sigpret [Option ID = 27713]

Correct Answer :-
® Questionnaire / gssiactt [Option ID = 27712]

4) A researcher divides his population into certain groups and fixes the size of the sample from each group. It is called

uop oNerpdl ueil EISt @l BB Al 3 RpnfSia o 3 3k yI® W D oldfol D PR DI fOorpIerd 3 A8 Pal Sl 3

[Question ID = 6930]
1. Stratified sample / 3o oteon

[Option ID = 27714]
2. Quota Sample / @ier oI

[Option ID = 27715]
3. Cluster Sample / @erez sidge

[Option ID = 27716]
4. All of these / 2msft frasea

[Option ID = 27717]
Correct Answer :-
® Quota Sample / ®ler aioln
[Option ID = 27715]

5) Which of the following is a non-probability sample?
www.FirstRanker.com
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A “Eifstranker s choice _ .
[Option ID = 27718] www.FirstRanker.com www.FirstRanker.com
2. B) Simple random sample / B. 3¢ efesd steoln

[Option ID = 27719]

3. C) Purposive sample / C. 3g9wquf oragorn
[Option ID = 27720]

4. D) (A) and (C) both / (g) 3iiz (20) et

[Option ID = 27721]

Correct Answer :-
e D) (A) and (C) both / (uv) iz (2ft) St
[Option ID = 27721]

6) What is sociometry?

Farsifaifer o= 3?7

[Question ID = 6932]
1. Sociometry is social formation / il NS stoet &

[Option ID = 27722]
2. Sociometry is technique for describing the social relationship among Individuals in a group / JGHfT vdb 9E 3 RAfepRIl & dta AEnfsiD Adedl o1 quier Bt
@ fere awmofte 3
[Option ID = 27723]
3. Itis a community formation / s vd AWSIRI® 1601 &
[Option ID = 27724]
4. None of these / sotdi 3 @IS ol ordt

[Option ID = 27725]

Correct Answer :-
e Sociometry is technique for describing the social relationship among Individuals in a group / JeGifer v 9E 3 wifepRil & da Aenfsie Adell o1 qufar w2t
@ fere awmofio &

[Option ID = 27723]

7) Exploratory research studies are also termed as formative research studies. Tick the correct choice

HIs1gui oflel 3reRIcll @l Uiy oner 31erret il el srer & A8l fameu uR o o3

[Question ID = 6933]
1. Itis correct / @B & 3

[Option ID = 27726]
2. ltis incorrect / =& scia 2
[Option ID = 27727]
3. It is neither correct nor in correct / &g of o & 2 3z of & 2 8

[Option ID = 27728]
4. None of these / sowi 3 ®IE oft ordt

[Option ID = 27729]

Correct Answer :-
® |t is correct / s 3@

[Option ID = 27726]
8) The measurements of sampling errors are usually called the precision of the sampling plan. Do you agree with this
statement? Answer the correct choice.

SIGITDYT el bl AT DI AR UR I3l ANSToll DI AETDAT D3l SIAl 3 T 3T 3 DG A AsHA 37 A3 fapey oI S/ad S
[Question ID = 6934]

Do not agree / Jeara @ & [Option ID = 27730]

Partially agree / siifer 37u 31 3is#a & [Option ID = 27731]

Completely agree / g3t as 3 s 3 [Option ID = 27732]

Can’t say / o8l @8 @ [Option ID = 27733]

A w N =

Correct Answer :-
e Completely agree / gt s 3 vreeia & [Option ID = 27732)yyww .FirstRanker.com

9) In a two dimensional diagram
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A iopipstegafiter's choice _ .
. Only height is considered / aer sieé amom ster 2 [OptiodWN 7B StRanker.com www.FirstRanker.com

Only width is considered / @aet disi$ w faar fdpen smer & [Option ID = 27735]
Height width and thickness are considered / 3ar$ dists i dilcl W R fipenr Ster & [Option ID = 27736]
Both height and width are considered / ar$ siiz dlsts clail am6it Sicdt & [Option ID = 27737]

A W N -

Correct Answer :-

e Both height and width are considered / 3ar$ iz dist$ gl aieit it & [Option ID = 27737]

10) If Nuddle food Ltd. Knows that the market share in north India has dropped by 8 percent in the first quarter of the
year, but does not know what might have contributed to this decline it is in which stage of the marketing research process

Aafe opscl B3 feifdies Sireldn 3 fob arsiR &l B3 3 vra 3 wrcr b uscll foandl 3 8 yferera @a 8l a1 3, dfdbet A6 o1dl udn 3 s s31 Brrac
3 fparopT APIcTol 8l Al 3 U6 fRuvTet regienol yfepen o fopaa arur & 3

[Question ID = 6936]

1. Hypotheses development / ssiidi¥r fawrt [Option ID = 27738]

2. Symptom identification / gt usarer [Option ID = 27739]

3. Data Interpretation / 3er se2fgeorer [Option ID = 27740]

4. Problem identification / Jm@r=n & usare [Option ID = 27741]

Correct Answer :-
e Symptom identification / et usare [Option ID = 27739]

sifpst @ 21sft Fsifar A6l A Jol fadRuT @) P8t Sirer 3 ------
[Question ID = 6937]

1. Actual distribution / arzafde faazur [Option ID = 27742]

2. Sampling distribution / swgen faa=ur [Option ID = 27743]

3. Inventory distribution / sodiedt fae=ur [Option ID = 27744]

4. None / @8 a8l [Option ID = 27745]

Correct Answer :-

e Sampling distribution / swen fda=ur [Option ID = 27743]

12) If a respondent is asked to compare the comfort ability in driving between Tata Sumo and Toyota. It is known as the
following

uep yferarst ol crer gt 3R SRiler @ dia sfder 3 Rt &t grerar bl gerol ol B fo1e sl sirar 3 A foafeRaa & wu 3 sirel sirar 3
[Question ID = 6938]

Conjoint analysis / @ourdise fecsuur [Option ID = 27746]

Staggered comparison test / ¥¢a1S qefont udtgwr [Option ID = 27747]

Paired comparison test / %S qgefonr udlgmr [Option ID = 27748]

Itemized comparative test / smsca geoneara wigur [Option ID = 27749]

A w N =

Correct Answer :-
® Paired comparison test / WS qgefonr wilgmr [Option ID = 27748]

13) Which of the following is the first step in starting the research process?

3oRieITel YIARIT 9% ol I USCI IRVI Dol AT 37

[Question ID = 6939]

Searching sources of information to locate problem / IpReRI o1 udr cBIel @ e el @ Ydi bt Hlst wen [Option ID = 27750]
Survey of related literature / 3idféa 2nféer @1 Adsor [Option ID = 27751]

Identification of problem / Jm@r=n &t usare [Option ID = 27752]

Searching to the solution of problem / @R @ Jemenet &t st don [Option ID = 27753]

A wWw N -

Correct Answer :-
e |dentification of problem / Iwren &t usare [Option ID = 27752]

14) Action Research means?

uagrel Rd @1 aaca?

[Question ID = 6940]

1. A longitudinal Research / v@ smidet smpRienst [Option ID = 27754]

2. An applied Research / v sigygep siopitiol [Option ID = 27755]

3. Avresearch initiated to show an immediate problem / v drcoifera wReRM f&xarol @ e 9 fdpar srRI v olter [Option ID = 27756]
4—ATesEarcrwithrsocioetonomic objettive 7=t SRir Sg v AR v i Optiomtb—27757%

Correct Answer :- www.FirstRanker.com
® A research initiated to show an immediate problem / va drcpifeies = fxarot @ fére g feben srI v ofter [Option ID = 27756]
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l. *ﬁﬂmﬂhﬂﬁm&&j{hﬁﬁaﬁiwmmm%mummﬁ .
[Question ID = 6941] www.FirstRanker.com www.FirstRanker.com
. Deductive Reasoning / f&sfirea 3taifoisr [Option ID = 27758]
. Inductive Reasoning / smwiaiicaas da [Option ID = 27759]
. Abnormal Reasoning / srimieI a® [Option ID = 27760]
. Transcendental Reasoning / ¢ie3iSeet 3lsifsisr [Option ID = 27761]

A WN -

Correct Answer :-
e [nductive Reasoning / sm@fonca® as [Option ID = 27759]

16) A research paper is brief Report of research work based on

Uop oflel Ue) o 3MMER UR 9l Rl b ifdnT Ruré 3

[Question ID = 6942]
1. Primary data only / @det greifdies Ser

[Option ID = 27762]
2. Secondary data only / amefdied Ser dact

[Option ID = 27763]
3. Both Primary and secondary data / greiféras 3iiz smefdies Ser Slait

[Option ID = 27764]
4. None of these / sowi 3 @I oft ordt

[Option ID = 27765]

Correct Answer :-
e Both Primary and secondary data / yrerféia 3iiz #neifdrd Ser cloll

[Option ID = 27764]

17) How do define Information?

ol I DA ufdsnftra oy 3?7

[Question ID = 6943]

1. Organized data / JeIfda Ser
[Option ID = 27766]

2. Raw data / wcar 3er
[Option ID = 27767]

3. Input data / seige Ser

[Option ID = 27768]
4. None of these / sowi 31 @IS 8ft oSt

[Option ID = 27769]

Correct Answer :-
e Organized data / 3ifda Ser
[Option ID = 27766]

18) How you will define a questionnaire?

3TU U YeolTacil 1 @A ufssifta mist?

[Question ID = 6944]

. Research Method / smepRieret fafér [Option ID = 27770]

Measurement Technique / s awmsfies [Option ID = 27771]

Tool for data collection / et s @ fere 3uwm=ur [Option ID = 27772]
. Data Analysis Technique / 3er1 faa3wur adoftas [Option ID = 27773]

AN wN -

Correct Answer :-
e Tool for data collection / 31 3sfg @ fere 3uwur [Option ID = 27772]

19) Which of the following is not the graphic representation?

forgotferRaa 3 A ot ayifbs @1 yferfoiftrea oiét 37

[_Quecrinn ID = 694".]

. Pie chart / axdiz ard [Option ID = 27774]

. Bar chart / ar aré [Option ID = 27775] www.FirstRanker.com
. Table / 2se [Option ID = 27776]

. Histogram / f&xcspat [Option ID = 27777]

AW N =
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20) Good Research is always-

31T 9IIer FAIT BIAT 5-

[Question ID = 6946]
1. Slow / eiam

[Option ID = 27778]
. Fast / &=t

[Option ID = 27779]
. Narrow / 3icbiof

[Option ID = 27780]
. Systematic / wraf¥era

[Option ID = 27781]
Correct Answer :-
e Systematic / craf¥era

[Option ID = 27781]

www.FirstRanker.com

21) Doubt is often better than -

3E AR J&eIR BIdl 8 -

[Question ID = 6947]

1. Belief / arun 3 [Option ID = 27782]

2. Value / g3t [Option ID = 27783]

3. Confidence / faeart 3 [Option ID = 27784]

4. QOver confidence / sifer smeafeeart 3t [Option ID = 27785]

Correct Answer :-
e Over confidence / aifer sueafdearat 3 [Option ID = 27785]

22) Which of the following is an example of primary data?

forgarfeiRaa 3i A1 Plal greafdred Se1 &I b IS8T 37
[Question ID = 6948]

1. Book / fpara [Option ID = 27786]

2. Journal / swfer [Option ID = 27787]

3. News paper / @R uff [Option ID = 27788]

4. Census Report / Seemrer f3did [Option ID = 27789]

Correct Answer :-
e News paper / @R uf [Option ID = 27788]

aRA 3 ARNRIE Aol IoIRies BT Tigd 3
[Question ID = 6949]

. Secular / Jager [Option ID = 27790]

. Totalitarian / siféemreardt [Option ID = 27791]
. Democratic / sat@few[Option ID = 27792]

. Welfare / @weemr [Option ID = 27793]

A W N -

Correct Answer :-
e Welfare / @camr [Option ID = 27793]

[Question ID = 6950]

1. Abstract / 2w [Option ID = 27794]

2. Dependent / sufgf [Option ID = 27795]
3. Independent / ¥adq [Option ID = 27796]
4. Separate / st [Option ID = 27797]

c PR
CorrectrAmnsSwer—

e Independent / Jadq [Option ID = 27796]

25) Hypothesis must have ---
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2. Durability / feemsuet [Option ID = 27799]
Testability / escfaferdt [Option ID = 27800]
4. Measurement / amget [Option ID = 27801]

w

Correct Answer :-
e Testability / 2¥efaferdt [Option ID = 27800]

26) Who of the following makes a distinction between liberal constitutionalism and Democratic disorder?

forgaifeiRaa 31 A Blal SgRardt Fdenforamdr 3iiz cidpdifie fabr & dfa siazr war 3?7
[Question ID = 6952]

1. Francis Fukayama / w3t wagamen [Option ID = 27802]

2. Theda Skocpol / &st @me [Option ID = 27803]

3. B.F. Skinner / dt.uw. Rawor [Option ID = 27804]

4. Farid Zakaria / wi¥g srpifsen [Option ID = 27805]

Correct Answer :-
® Theda Skocpol / &sr F@mrer [Option ID = 27803]

27) Who has applied the theory of feudalism for the chola state

feprel et I @ fere Aiaare @ Rigia o oy fion 3
[Question ID = 6953]

1. R. C. Majundar / am. 3ft. aspier [Option ID = 27806]

2. Burtion Stein / aféet 36t [Option ID = 27807]

3. R. N. Nandi / am. war. sict [Option ID = 27808]

4. A. Southal / u. am3ere [Option ID = 27809]

Correct Answer :-
e R. N. Nandi / 3. wal. sidt [Option ID = 27808]

28) Sustainable development goals have

Adad o & cga 3

[Question ID = 6954]

8 goals / 8 siter [Option ID = 27810]
20 goals / 20 aiiet [Option ID = 27811]
17 goals / 17 siter [Option ID = 27812]
10 goals / 10 siet [Option ID = 27813]

A w N =

Correct Answer :-
® 17 goals / 17 et [Option ID = 27812]

29) The 'Stand up India Scheme' which promote entrepreneurship and it works for

‘IS U Si3A1 AlSiell’ Sl Jeifdier Bl dorar Sl 3 3k oRf wdl 3

[Question ID = 6955]

1. College students & management institutions / sreifdemetr femeff vd yderwer iteret [Option ID = 27814]
2. Minority & Tribes / sicusiz=rn 3liz sufgarzft [Option ID = 27815]

3. SC-ST & Women / warft-uaret iz aifdeme [Option ID = 27816]

4. Young entrepreneurs & engineering graduate / Jar 3zl sii Ssfiforif¥st Jomam [Option ID = 27817]

Correct Answer :-
® SC-ST & Women / warft-uaact siiz sifdeme [Option ID = 27816]

30) Which one of these are incorrect about total Literacy campaign

AIYul ATgAr IfFRIGT @ dR 3 Foldl A Dlol AT 3Icld 3

[Question ID = 6956]

1. It started in Ernakulum district of Kerala / s @1 @ weilqert fOret 3 9% gan [Option ID = 27818]

2. The whole district was made literate between January 1989 to February 1990 / g3 f3iet @t Sorast 1989 31 w23t 1990 & dfa mer qotren srn e [Option ID
=27819]

3. The main elements of total Literacy campaign as area based, time bound, cost effective, outcome oriented & volunteer based / et g sifdrmor @
IR Acd S 81 SNy, IR, TIPI Yorrelt, ulvimeT o9 3l IriRIa® smenfsa [Option ID = 27820]

4. All above are incorrect / 3wiep it srera & [Option ID = 27821]

Correct Answer :-

e All above are incorrect / 3w st sreta & [Option ID = 27821] .
----------------------------------------------------------- WWW:FirstRankerCom------------ooooommmmi

31) Match List | with List Il (Book/Theory proposed/Characteristic, etc.) (Author/Thinker/Name of Theory, etc.)
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1. National policy on education / s ofifer farem a. 1988
2. Plan of action / orison b. 2001-02
3. Sarva Shiksha Abhiyaan / ad fo1gn siférrer c. 1986
4. National Literacy Mission / s amgrar fiorer d. 1992

Choose the correct answer from the options given below:

[Question ID = 6957]

1. 1-a,2-b,3-c,4-d
[Option ID = 27822]

2. 1-d,2-¢,3-b,4-a
[Option ID = 27823]

3.1-¢,2-d,3-a,4-b

[Option ID = 27824]
4, 1-¢,2-d,3-b,4-a

[Option ID = 27825]

Correct Answer :-
e 1-¢c,2-d,3-b,4-a
[Option ID = 27825]

32) Consider the following statements and identify incorrect.

forgsifciRaa werell u? faar @3 iz srca & usdrer o

[Question ID = 6958]

. Adult Education impact on thinking and awareness / 2ira 3ii? SiPRsDAI R RIS fd1en @1 ysma [Option ID = 27826]

. Adult education can impact on economic activities / @wr foren snféfe sifefafiril ue gama s 3wt & [Option ID = 27827]

. Adult education can also impact on social environment / ®Rr® forgn APRE ardaRur W ff garra stet Awdt & [Option ID = 27828]

. Adult education cannot be helpful to upgradation of functionality / ®rig@HA ® IoorRIer D feTw D {9181 ABRID ofdl 8l Addt & [Option ID = 27829]

A W N -

Correct Answer :-
® Adult education cannot be helpful to upgradation of functionality / ®rigEIAr @ Iooriel @ 1w TR {9181 ABRIP ofdl al Addt & [Option ID = 27829]

33) With reference to Compressed Natural Gas (CNG), consider that following statements:
1. It is a mixture of hydrocarbons consisting of approximately 80 to 90 percent methane in gaseous form.
2. It is lead-free and lighter than air.

Which of the statements given above is/are correct?

AUlfSa groferd 3i1 (CNG) o Jicsi 3, foaifciRaa werell uR faar o3 1. Js 3Rik wu 3 ceneT 80 A 90 yferera idel A A sEgIdEal BT
faroqur 3

2. I8 a1 i getont 3 A1 M 3R sopT BIar &
SUR feu s1¢ weEll A A ®lel A1 A8 3/37

[Question ID = 6959]
1. 1only / 1only

[Option ID = 27830]
2. 2only /2 only

[Option ID = 27831]
3. Both1and 2/ Both 1 and 2

[Option ID = 27832]
4. Neither 1 nor 2 / Neither 1 nor 2

[Option ID = 27833]

Correct Answer :-
e Both 1and 2/ Both 1and2

EC i T T LY |
[OpPtoT D= 2709Z]

34) Consider the following statements: www.FirstRanker.com

1.Richter scale is used for measuring the intensity of Earthquake.
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Which of the statement given above is/are correct?

forgaifeiRaa werell u? faar @3:

1. feaez Fda @1 sFA3ICT g Gt digar Ao & fere fopar srar 3

2. yu @ UlIAIvT oI A6l @ fe1e IPIcll Fddel DI IURIIGI fopr SiIdr 3

3. digar ¥o>a &bt Mem 1-10 A 2

SUz & s wler A1 Bweror A 3/3?

[Question ID = 6960]
1. 1and 2 only / @det 1 3ik 2

[Option ID = 27834]
2. 3only / ®ac 3

[Option ID = 27835]
3. 1,2and3 /1,233

[Option ID = 27836]
4. None / @i$ oidl

[Option ID = 27837]

Correct Answer :-
o None / @I$ oidt
[Option ID = 27837]

35) Which among the following statements best describes the term ‘Black Gold’:

forgaifeiRaa 31 A1 Pl T DU "sci slics' 916G DI AT HTOT aulcl Bl 3.

[Question ID = 6961]

Coal and its derivatives / o®krren 3liz 3@ Sfxafea [Option ID = 27838]

Green Diamond / affar srwis [Option ID = 27839]

Residual that remain after Gold extraction / el &t forprit 3uzia smafore [Option ID = 27840]
Petroleum and its derivatives / dQifermer iz 33 Sf¥afea [Option ID = 27841]

A W N -

Correct Answer :-
e Petroleum and its derivatives / Uqiferm 3iiz 33D Sfxdfea [Option ID = 27841]

36) Consider the following statements:
1.The Strait of Hormuz is a strait between the Persian Gulf and the Gulf of Oman

2. Dardanelles Strait connects the Black Sea to the Sea of Marmara.

3. The Bosporus Strait connects the Aegean sea to the sea of Marmara
Which of the statements given above is/are correct?

forgat el Uz AR @3
1.3RYSl 3¢ URIIRIGT 3R 31w 3 3Tl @ dfa 3

2. gIcreferst 3¢e scia Hl 31z Y 3 ARART @Y Sisdar 3
3. arURA ¥ vioriol Hl ol ARARI H & Sisar 3

SUR &1 s wlel AT Beror T8 3/3?

[Question ID = 6962]
1. 1and 3 only / @act 1 3iiz 3

[Option ID = 27842]
2. 2 and 3 only / @dct 2 3R 3

[Option ID = 27843]
3.1,2and3 /1,243

[Option ID = 27844]
4. 1only / 1@

foptiomtD—="27845]

Correct Answer :- www.FirstRanker.com
e Tonly/1®E
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A >nFiftes tha fritiewinsctatiments . :
1. River Amazon drains into the Pacific Ocean WWW. Fl rStRan ker.Com WWW. Fl rStRan ker.com

2. St. Louis is located at the confluence of the River Mississippi and the River Missouri.

3. The Grand Igna Dam is a proposed hydroelectric dam on the Congo River.

Which of the statements given above is/are correct?

forgoiferRaa el U iR o3

31dISTol oIT YoIid HBRIPR & Siidl 3 e gz fHRiRL siie RBrAldl o1l @ o uz Rea 3 sjis soon it ®idh oIdl UR U grdaifed geifdsicll aier
3

SUR f¢u 31 weEll 3 A Dlel AT ASI /37

[Question ID = 6963]
1. 1and 2 only / @ae ¢ &R 2

[Option ID = 27846]
2. 2and3only /23R 3 &

[Option ID = 27847]
3. Tand3only / 23R 3 &

[Option ID = 27848]
4. 1,2and 3/ ¢, 3R 3

[Option ID = 27849]

Correct Answer :-
e 2and3only /23R 34
[Option ID = 27847]

38) Who among the following were members of the drafting committee of the Constituent Assembly?

1. B. R. Ambedkar

2. N. Gopalaswami

3. K. M. Munshi

4. B. N. Rau

Select the correct answer using the code given below:

forgoifeiRaa & A dlar Afaerst s &I Rdicr AT D IAg=T A?

1. &b 3R, sFds®mR

2. wol. sNurciranit

3. &. war. golt

4. €. val. IS

il fou 31T BIs BT IUART BID Al IR Jol:

[Question ID = 6964]
1. 1and 2 only / @de 1 8k 2

[Option ID = 27850]
2. 1,2and3/1,23R3

[Option ID = 27851]
3. 3and4only /3343

[Option ID = 27852]
4.1,2,3and4 /1,2, 3424

[Option ID = 27853]

Correct Answer :-
e 1,2and3/ 1,233

[Option ID = 27851]

[Question ID = 6965] www.FirstRanker.com

1. An agreement between the center and constituent units in order to set up a federation. / it @ & &t emuen @ o dg 32 Tcd sosll @ dia v
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ndF”heﬂ platg nwmﬁlihﬁECentre for all funds, func_tions and functionaries / it forféril, orit iz @Rfem%eﬁ D o Dg W A IXPR Bt
www.FirstRanker.com www.FirstRanker.com

[Option ID = 27855]
3. Constitutional devolution of powers to the state governments / s @RI @t oIfepeil @1 denford forgiaur

[Option ID = 27856]
4. Extraordinary powers with center to unilaterally change the federal principles of the constitution / Zifceror i efir RBrgidl @ vbawI ¥u A deciol D e
DG D URI 3RIEIRVI Pl

[Option ID = 27857]
Correct Answer :-
e Constitutional devolution of powers to the state governments / e @RI ol oIfepRil @1 ddenford forgiaur

[Option ID = 27856]

40) With reference to the Economic Census of India 2019, consider the following statements:

1. It is the complete count of all Indian establishments located within and outside the territory of India.
2. It is conducted by the Ministry of Commerce and Industry.
3. It will cover establishments in the nonfarm sector including household enterprises.

Which of the statements given above is/are Correct?
$IRd bl 3 Storevre 2019 @ Jice 9, foefciRaa deEl ur fdar @3

1. I AR D 8 D ofieR 3R arsz Rrera weft srcizr yfersoroil &t yof svren 3
2. 1z aifdrs 3R Il AGICRI SR arferd fp=n Sirar 3

3. w6 =M 3eril AR 3 oty 8 B yfereorell ot Tafda wen

Uz fou s werwell 3 A Bl A1 A8 T

[Question ID = 6966]
1. 1 only / &ae 1

[Option ID = 27858]

2. 1Tand2only / 13k &
[Option ID = 27859]

3. 3only / @aa 3

[Option ID = 27860]
4. 1and 3 only / ®aet 1 3iR 3

[Option ID = 27861]

Correct Answer :-
e 3only / @ac 3
[Option ID = 27860]

41) Recently, DRDO has conducted successful tests of ‘Abhyas’ which a/an:

arcT & &, S 3=, S 3. of 3T D Awa udiervr fbe 3, St w:

[Question ID = 6967]

Nuclear powered submarine of Scorpense class / ¥®idlor iRt Pt ) Adarferd usigsd! [Option ID = 27862]
High-speed autonomous flight drone / 3<a sifer Zarra 3sier slet [Option ID = 27863]

Light weight combat chopper / gca asiol g Wla® sfermite [Option ID = 27864]

Intercontinental ballistic missile / siqstergidir dfeif¥es frmse [Option ID = 27865]

A W N -

Correct Answer :-
e High-speed autonomous flight drone / 3ca sifer 3arra 3stet gt [Option ID = 27863]

42) The beginning of the parliamentary System in India can be traced back to which of the following Acts?

fopa1 sif2IforIar @ werrareu s1RA 3 AR YuIredl Bl 9RF3IIA DI Udl cRIRI ST ADI 3

[Question ID = 6968]

1. Charter Act of 1853 / 1853 @t arc siféiforwr [Option ID = 27866]

2. Government of India Act, 1858 / smza @R sifaforp, 1858 [Option ID = 27867]

3—GovernmentoftdiaAct; 349 SiitrEs 1949 {Optiomtb—27868%

4. Government of India Act, 1935 / sz 3R sifaforer, 1935 [Option ID = 27869]
www.FirstRanker.com

Correct Answer :-
e Charter Act of 1853 / 1853 @i @iz sifaiformr [Option ID = 27866]
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[Question ID = 6969]

1. Sweden / ¥disar [Option ID = 27870]

2. lIreland / siereis [Option ID = 27871]

3. United Kingdom / 3gmses fesstsar [Option ID = 27872]
4. Germany / swebit [Option ID = 27873]

Correct Answer :-
e United Kingdom / Zemrsess fepsrsat [Option ID = 27872]

44) Whom among the following started the newspaper ‘Shome Prakash’?

forgatferiRaa 3 A1 fopaor 9N3H Yop19l ’3RadR 9 fdpar?

[Question ID = 6970]
1. Dayanand Saraswati / ceifelG JR2acdt

[Option ID = 27874]

2. Ishwar Chandra Vidyasagar / $a2 dg fdenier
[Option ID = 27875]

3. Raja Ram Mohan Roy / et 31 #igel IR

[Option ID = 27876]
4. Surendra Nath Banerjee / 33g il goroff

[Option ID = 27877]

Correct Answer :-
e [shwar Chandra Vidyasagar / $az dig fdemisr
[Option ID = 27875]

45) In collaboration with David Hare and Alexander Duff, who of the following established Hindu College at Calcutta?

3fas 82 3iiR sIciasis: SW @ AAPI A, foweifeiRaa 3 2 el wermar 3 &g @icrst &I Fermuetr &I?
[Question ID = 6971]

1. Henry Louis Vivian Derozio / 2o gjs21 faferrer fbaifsri [Option ID = 27878]

2. Ishwar Chandra Vidyasagar / $«az dg fdemier [Option ID = 27879]

3. Keshab Chandra Sen / @9 dg et [Option ID = 27880]

4. Raja Ram Mohan Roy / 3t w1 aiteet 21 [Option ID = 27881]

Correct Answer :-

e Raja Ram Mohan Roy / st w1 diiget k1 [Option ID = 27881]

46) For the Karachi session of INC in 1931 presided over by Sardar Patel, who drafted the resolution on fundamental right
and economic program?

1931 3 oA & Bl 3frdorer @ fere ISR ued of sreagian &, fpal Hifcre siferprR i snfifes orRicmH o1 F=dicr GaR fdeen?

[Question ID = 6972]

1. Mahatma Gandhi / sisican stieft [Option ID = 27882]

2. Pandit Jawaharlal Nehru / tfsa Smrssetet sige [Option ID = 27883]
3. Dr. Rajendra Prasad / 3mig yziic [Option ID = 27884]

4. Dr. B. R. Ambedkar / 3t. €. si= swasw®2 [Option ID = 27885]

Correct Answer :-

e Pandit Jawaharlal Nehru / uf$a Smarsetret alge [Option ID = 27883]

47) Mahatma Gandhi said that some of his deepest convictions were reflected in book titled “ Unto this last” and the book
transformed in his life. What was the message from the book that transformed Mahatma Gandhi?

Ja1ca stiefl o1 wal b oIl T 3168 AU 3iolg & dize grad 3 uf¥afdia axdl 3 iz 51 yaa® ol o1 Siidel @ g6d &A1 531 Yzas @1
TRIT AT JoTdD Siieel 3 Fceld IR

[Question ID = 6973]
1. a.Uplifting the oppressed and poor is the moral responsibility of an educated man / vad-qmact 3k 3R1dl ®I 3cellol Bl Bb S1fdid wifep o aiferd PRl 8

[Option ID = 27886]

I forET 2

[Option ID = 27887] B 4 ~www.FirstRanker.com
3. c.The life of celibacy and spiritual pursuit are essential for a noble life / ft. gerar! 3z sueenfeadm 3391 @1 Sfidor 30 Sfidor @ o smagad

[Option ID = 27888]
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e b.The good of individual is contained in the good of all / dtcfep &t srcns 2rsft & B 3 forda 2

[Option ID = 27887]

48) Mahatma Gandhi undertook fast unto death in 1932, mainly because

Jrarcan aniefl of 1932 3 3131RVI 31e19r6l [N, 3ADT FIRT DBRYI AT

[Question ID = 6974]
1. Round Table conference failed to satisfy Indians political aspirations / 33s 2det aiciol o1l i AsTolifeied 3mpienail a1 YI ol 3t fwer a1

[Option ID = 27890]
2. Congress and Muslim league had difference of opinion / @B[RI 3z #Rcwr cffel D i Aads o

[Option ID = 27891]
3. Ramsay Macdonald announced the communal award / I3R! ddsIelcs of AYSIRIP YIIdR &I diuvn 6t

[Option ID = 27892]
4. None of these / st 31 @IS oft ordt

[Option ID = 27893]
Correct Answer :-
® Ramsay Macdonald announced the communal award / 36RI Adsielcs of AYGIRID YR¥DR I ayurr bt

[Option ID = 27892]

49) In Which period functional Literacy for Adult women was introduced in India.

HRA A R Afdensii @ fore et sraf?r 3 oriicad MgrRar & s &l o1 oft

[Question ID = 6975]
1. 1975-1976

[Option ID = 27894]
2. 1980-1981

[Option ID = 27895]
3. 1985-1986

[Option ID = 27896]
4. None of these / st 3 @IS oft ordt

[Option ID = 27897]
Correct Answer :-
e 1975-1976

[Option ID = 27894]

50) Dr. Frank laubach submitted which proposal to the Government of India in1950?

3f. B @ cfdd of HRA IRPR DI Biol AT YFad 1950 3 FJor=n?

[Question ID = 6976]
1. All India family planning campaign / sif3aet siecfizr uf¥are foritsror siférmor

[Option ID = 27898]
2. All India Literacy campaign / sif3det sieiler Jmgrar sifdrmor

[Option ID = 27899]
3. All India Lifelong Learning campaign / aif3det st simsfiaet forgor sifériet

[Option ID = 27900]
4. None of these / sowi 3 DIE oft odt

[Option ID = 27901]
Correct Answer :-
e All India Literacy campaign / sif3act sireciler 2mgrar sifdrmor

[Option ID = 27899]

www.FirstRanker.com



